

x, y, z

$$\frac{dx}{dt} = x + 4z$$

$$\frac{dy}{dt} = 2y$$

$$\frac{dz}{dt} = 3x + y - 3z$$

$$A = \begin{pmatrix} 1 & 0 & 4 \\ 0 & 2 & 0 \\ 3 & 1 & -3 \end{pmatrix}$$

$$A - \lambda I$$

$$\begin{pmatrix} 1 & 0 & 4 \\ 0 & 2 & 0 \\ 3 & 1 & -3 \end{pmatrix} - \begin{pmatrix} \lambda & 0 & 0 \\ 0 & \lambda & 0 \\ 0 & 0 & \lambda \end{pmatrix}$$

$$= \begin{pmatrix} 1-\lambda & 0 & 4 \\ 0 & 2-\lambda & 0 \\ 3 & 1 & -3-\lambda \end{pmatrix}$$

$A - \lambda I$

$$\begin{pmatrix} 2-\lambda & 0 & 4 \\ 0 & 2-\lambda & 0 \\ 3 & 1 & -3-\lambda \end{pmatrix}$$

$$1) \begin{pmatrix} 1-2 & 0 & 4 \\ 0 & 2-2 & 0 \\ 3 & 1 & -3-2 \end{pmatrix}$$

$$= \begin{pmatrix} -1 & 0 & 4 \\ 0 & 0 & 0 \\ 3 & 1 & -5 \end{pmatrix}$$

$$\begin{pmatrix} -1 & 0 & 4 \\ 0 & 0 & 0 \\ 3 & 1 & -5 \end{pmatrix} \begin{pmatrix} k_1 \\ k_2 \\ k_3 \end{pmatrix} = \mathbf{0}$$

$$-k_1 + 0k_2 + 4k_3 = 0$$

$$\underline{k_1 = 4k_3}$$

$$k_3 = 1$$

$$k_1 = 4$$

$$k_2 = -7$$

$$3k_1 + k_2 - 5k_3 = 0$$

$$3(4k_3) + k_2 - 5k_3 = 0$$

$$7k_3 + k_2 = 0$$

$$k_2 = -7k_3$$

...

$$v_1 = \begin{pmatrix} 4 \\ -7 \\ 1 \end{pmatrix}$$



$$V_2 = \begin{pmatrix} 2 \\ 6 \\ 1 \end{pmatrix}$$

repeat

$$V_3 = \begin{pmatrix} 2 \\ 6 \\ -3 \end{pmatrix}$$

$$X = C_1 \begin{pmatrix} 4 \\ -7 \\ 1 \end{pmatrix} e^{2t} + C_2 \begin{pmatrix} 2 \\ 6 \\ 1 \end{pmatrix} e^{3t} + C_3 \begin{pmatrix} 2 \\ 6 \\ -3 \end{pmatrix} e^{-5t}$$

Wk 14! 6.3

tl